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Exercice 1

Compléter avec un nombre décimal :

1. 5x1004+4x1+5 —
1. 0> d00 44>l 5 > 100

1
+2X —=..

2. 2x1+8
>2. 2xltex 10

1000

1
3. 4x1000+5x14+6x%x—=...

10

Exercice 2

Compléter avec un nombre décimal :

1
»1. 8><1—0+4><100+8><1:

1
2. 6x10+1x1+1x —
T

»3. 8x104+5x100+2x1=

Exercice 3

Compléter avec un nombre décimal :

1 1
L. TX100+5X —+1x —=..

100 10

1
2. 1
>2 X T000

3. 5x10+9x1+4+1x

1000

Exercice 4

Compléter avec un nombre décimal :

1
1. 5x — +3x100+2x 1 =
PlooxXqgg T X

1
> 2. 9X100+3XE+5X1:

1 1
3.3x —12x1+4 N
>3- Sx gt e A 100

Exercice 5

Compléter avec un nombre décimal :

1. 8x 10+ 3 x

1
1000 1%

1
2. X — 47
R TR

1=,
Toop 2

10

3. 5x14+9x10+6 x

+1x14+9x10=...
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Hhx14+4x100+4 x

1000

1
1><1—0+8><10+2><

1000

4x10+1x1000+5 =
x 1041 x +><100

1x10+9%x1+1x

1000

5x10004+6x10+4x100=..............

1
3x104+9x1+2x — —
T

1
7><1—0+9><10+4><100:
4x10+1x1000+5x100=..............

3x 100047 x +9 x

1000

1
8x100+3x —+1x1=
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1x1+2x + 5 x
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1
O9x —+3 X
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